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Add or subtract the polynomials. Write your answer in standard form.

1. (—x% + 3x) — (5x + 2x%)

2. (2m* 4+ 6m) + (m* — 5m + 7)

3. (—dp* —p+ 9 +(p*+ 3p— 1)
4. [Erf—x+1]—t—4+‘2ht2+8xj

(w® — 4w — 1) + (—5 + bw?® — 3w)

A 524y +5

C. 52 4+9r+5

Find (=2x2 + 5x = 1) — (3x2 — 4x — 6).

A 112 —8x—6

C. 112 =2%-6

Find (432 + 3x) = (722 — 5x — 6).

B. 11x*—222-56
9y — 6

Find each product or simplify each expression.

6. Gpgidp® + dg)

—3rt(—2¢* + 3r)

8. —%nz{—ﬂnz + 3n + 6)

9. —ZF3¢ — 4)+ TE |

10. Bw(—Tw + 3) + 2w(—22 + 19w + 2)
11, (x + THx + 4)

12. (a + 5)a — 6)

13. (4g + 3hN2g + 3h)

14. (t + 3N2 4+ 4t 4+ T)

16.

15. (3d + 3H2d* + 5d — 2)

17.

18.

Factor each polynomial.
22. 44* 4+ 16

23. 32a® + 24b°
24. Ba’d?® — Gad®
25. Hxiy? 4+ 10x%y + 25x

26. 2a® + 3a + 6a + 9

LA

Find —31'3_1'1{3171"1 —2x

— V.

A —5ch8 0 10:52 - 93,3
B. 2445 ~ 162177 + 8373
C. —2—1.‘-.'4.1"5 - 161'5_1'1 + 81'3.1'3

D. —2—1.‘-."1.1"5 + 161'5“\—1 + 51'3_1'3

Simplify Sa(da® — 2a) + 3a(-2a* + 4a).

A 1447 +2a
C. 144° +24°
2a? + 10a

D. 10a° + 447

Find the product (3x + 3)1.

A G2+ 18c+9

B. 9t +18c+9

C. 62+12x+9 9 +12x+ 9
(x — 107 19. {(Tv — 27
(b + 6)E — B) 20. (32 + 9h)3g — 9h)

(B — 47 21.

(5r + p)®

Factor 20a*52 - 15ab + 30a*b

5ab(15a%h - 10 + 234)
B, &B(20a%b - 15 + 30a)
C. 5(4a*b” - 3ab + 10a”h)

D. 3ab(d4a’h -3+ 6a)

Factor 8ac + 12ad + 10bc + 1504

(2c +3d) + (da+ 5b)
B. (8Bac + 12ad) + (10bc + 155d)
C. (2c+3d)(d4a+ 5b)

D. 4a(2e+ 3d)+ 35(2c + 34)




Factor each polynomial.
27. x4+ 14x + 33

28. ¥ 4+ 4y — 60

29. i* + 4t — 45

30. x% — 11x + 24

31. 32 + 18r + 2

32. m? — mv — 56v?

Factor each polynomial, if possible
42,

37. 81 — r*

38. 144 — 9f*

39. 32 — 8_1.-'1

40. g _ 32

41. 10086 — 36b

43

44

45,

33, dx* 4+ 4dx — 3
34, 10d2 4+ 17d — 20
35. 9% + 15r + 6

36. Hz® 4 20z — 48

m*— 6m + 9

. g% — l4g + 49

Ldd? —dd + 1

3662 — 248 + 4

Factor x> + 6x — 7.

A x—Dx=+T)

C. (x—3)x—3)

B. (x=3)x+3)

D. (x=Dx—=T7)

Factor 6.1.'1 + 22y — 8.

A (G- =8

C (2= hHiZy+2)

B. 23v-2)0+2)

2Qv-D+ 4

. If the polynomial cannot be factored, write prime .

Solve 432 —25=0.

5 5
Al y=—3 B. »-3
C. y=24—5 D y=—% o1 y=%
Solve the following: (g + 2y =25
A T B. {3}
c. 3.3 D. {-7.3}




